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SOCIOLOGY
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Paper – II
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���– II

1. Which of the following is NOT a
characteristic of a community ?
(A) We feeling
(B) Locality
(C) Caste organization
(D) Social living

2. Which of the following statements
describes the function of education ?

I. It is an agent of cultural transmission

II. It is an agent of socialization

III. It is an instrument of knowledge
transmission

IV. It does not permit change

Choose the correct  answer from the code.

Code :
(A) I, II and IV (B) I, II and III
(C) II, III and IV (D) IV, II and I

3. Assertion (A) : Economic relations
between superiors and
subordinates lead to a
situation of conflict

Reason (R) : Conflict mainly occurs
because of unequal
distribution of authority.

Choose the correct answer from the code :
Code :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

1. g�����������	
��"���
���h�"����	����i
(A) ������������������������
(B) j���������������
(C) ����
�������
(D) j����������k�������

2. �����	��� !"����#�$%&"�'���%&"l
()�m��*	��+��,"�����-���.��/�+��
���!���0���i

I. j����-n12�����
/�'�����3��m4,"5l
II. j�������o����/�'h"��m4,"5l
III. 4�p��������.	����
/�'�����3�m4,"5l
IV. ����/�'�6��������������2�7��	���

��/'' 8���� ������9	
������������� �����	���  !"���� �:;<�
� �����;��
���!�7��������
������ :
(A) I, II ����=��"�� IV (B) I, II  ����=��"�� III
(C) II, III  ����=��"�� IV (D) IV, II  ����=��"�� I

3. � ��������� ��(A) : ��>��j������q��9	�������j���������.r

����9	��+��"�������s=��������?�9	

�
�t�/�'uh"����"	
=@j�0/'��A

����������� (R) : �9���/�'��������������
����
B��t�/�'uh"
�����C+�>��r/�'�>���������A

����� :
(A) (A) ��/''8���� (R) ����.v
(B) (A) ����=��"�� (R) /''�;������/''8������q�(R), (A) �������

��/''8����*���/�'h"
(C) (A) ����.v (R) ��/''8����
(D) (A) ����=��"�� (R) /''�;������/''8������ (R) , (A) �������

��/''8����*���/�'h"���	���
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4. Choose the correct sequence of the

following concepts in order of increasing

complexity.

(A) State, society, community, association

(B) Community, association, society, State

(C) Association, State, community, society

(D) Society, State, association, community

5. Match an item in List I with an item in List II.

List I (Book) List II (Author)

I. Second Sex 1. Shucasmith Friestone

II. The Dialectic 2. Simone De Beauvour

of Sex

III. House Wife 3. Kate Millet

IV. Sexual Politics 4. Ann Oakley

5. Betty Friedan

Code :

I II III IV

(A) 2 1 4 3

(B) 2 5 1 3

(C) 2 1 4 5

(D) 2 5 1 4

6. Who among the following articulated that

stratification is a social necessity ?

(A) Lewis Coser

(B) Claude Levi-Strauss

(C) Kingsley Davis and Wilbert Moore

(D) Alwin Gouldner

4. �����	��� !"���� ��������
� ���/�'���� ���������()� m�� ��/''8���	:
���!�7��������A

(A) /�r+�����, ������r�, �������	
��"��, ��*�2

(B) �������	
��"��,  ��*�2, ������r�, /�r+�����

(C)  ��*�2, /�r+�����, �������	
��"��, ������r�

(D) ������r�, /�r+�����,  ��*�2, �������	
��"��

5. D���$ I ()�� �.E��0��
�����D���$ II ()�� /�'7��/'�����
�:
�w
�"�����.

����� I (�����f�� �) ����� II (
��!��
������ �)

I. F��'��;<��F��<�l 1. �G����H�x�&���Ftyjw$�&�

II. ��;����"�(,"���$�<��szt 2. F�8�'���&����{���/<'
F��<�l

III. �I|z���'�8zt 3. ���%&"�*�(,"B%&"

IV. F�����l���(&"���D%�"�<�l 4. ��&��}���B

5. J,"%�"$��Fty;���&�

����� :

I II III IV

(A) 2 1 4 3

(B) 2 5 1 3

(C) 2 1 4 5

(D) 2 5 1 4

6. ���K���/�'h"�g����j����������������/�'������L���/�'���
��7
/�'��i

(A) 
�/'��z���:r/<'

(B) ��B;<��(,"*~j�$z�

(C) ����><�#�B�;��*z������=��"���*(&"?/<'$������/<'

(D) sD3�&��>���(&"M���/<'
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7. Which of the following could be cited as
an example of a total institution ?

I. Prison II. Asylum

III. Hotel IV. Hostel

Code :

(A) II and III (B) I  and II

(C) I, II and III (D) I, III and IV

8. Assertion (A) : Social stratification is a
system that places
groups in a hierarchical
order in society.

Reason (R) : Each social group
shares a similar life style,
which at least to some
extent distinguishes one
group from the other.

Choose the correct answer from the given
code :

Code :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

9. Choose the correct sequence of the
following stages of socialization.

I. Anticipatory socialization

II. Child

III. Infant

IV. Adolescent

Code :

(A) III, II, IV and I (B) III, I, II and IV

(C) I, III, II and IV (D) I, IV, II and III

7. g��������.N/�'O������������P	
�I"/�'h"�m*�i

I. 4,"8
� II. �������H�����/:>���
��
��"��

III. �I)Q(&" IV. R��$(&"

����� :

(A) II ����=��"�� III (B) I  ����=��"�� II

(C) I, II ����=��"�� III (D) I, III ����=��"�� IV

8. ������������ (A) : ��� ���r�()�� ��� ����R
����
���K���/�'h"�� g���� ��������� �.	���2()
#./�'�"������

������������(R) : � �.2� ��� �����I"�� g� ��� k� ��� ��
*9	
�
��� ���DS�P�Q���q� s
*9	
�����*�>���
� �������R
()
�T�������/�'�����������>��P�Q���

��������
%�"������;�����/''8�����:;<������>���=0�7���;�� :
����� :

(A) (A) ��/''8���	��q� (R)�����.v

(B) (A), (R) /''�;���� ��/''8������q�(R) , (A) �������� ��/''8���
*���/�'h"

(C) (A) ����.vq (R)���/''8���	��

(D) (A), (R) /''�;���� ��/''8������q�(R) , (A) �������� ��/''8���
*���/�'h"���	���

9. ��������
%�"����/''8�������/�'�������������()�>���=0�7���;��

I. s#.�������j��Ht��o����/�'h"

II. J�
�;���

III. �.H��
;���

IV. ���U)/�'�	��U�"�J�
�;���

������:

(A) III, II, IV ����=��"�� I (B) III, I, II ����=��"�� IV

(C) I, III, II ����=��"�� IV (D) I, IV, II ����=��"�� III
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10. Match the item in List I with an item in List II.

List I (Book) List II (Author)
I. The Death of the 1. Roberston R.

 Family
II. Deschooling 2. G. P. Murdock

Society
III. The Sociological 3. Ivan Illich

Interpretation of
Religion

IV. The Division of 4. David Cooper
Labour in Society

5. Emile Durkheim

Code :
I II III IV

(A) 4 3 1 2
(B) 3 5 1 4
(C) 4 3 1 5
(D) 4 3 5 1

11. Who among the following used the concept
‘Generalized other’ in the analysis of role ?

(A) G. H. Mead

(B) T. M. Newcomb

(C) Kingsley Davis

(D) Ralf Linton

12. The major debate in the discipline on the
various perspectives to the study of man
in society includes

I. Positivist vs phenomenological

II. Structure vs  agency

III. Integration of structure and agency

IV. Conflict

Code :

(A) II, III and IV (B) I, II and III

(C) IV, II and I (D) I, II and IV

10. Dz�$ I ()���.E��0��
�/�'7��/'�����
�����Dz�$ II �����;���>���=0�7���;��.
� g�� I ( ����� f�� �) � g�� II (
��!��
������ �)

I. The Death of the 1. Roberston R.
 Family

II. De schooling 2. G. P. Murdock
Society

III. The Sociological 3. Ivan Illich
Interpretation of
Religion

IV. The Division of 4. David Cooper
Labour in Society

5. Emile Durkheim

����� :

I II III IV

(A) 4 3 1 2

(B) 3 5 1 4

(C) 4 3 1 5

(D) 4 3 5 1

11. j�9	
/�'h"�'��8���� ���/�'�
���r���/�'(,"84&";<���	��/<'�������������������
�������*U�"B�Gh"()��
;���	'����/�'��i
(A) �A�FI"7&�A�V�;<�
(B) %�"A���"��&��A�����+�:�J&"
(C) ����><�#�B�;��*z�
(D) /�(&"��D�Q�&�

12. ������r�()� ����������E
��9	��+��"��
����� ���?�9��!
LQ�����%�"�H�	
������7��/�'"
��
�/'���i

I. ����/����x��� vs 	��1S3�G��"��
	���
II. �=x2 vs  m4,"5l
III. �=x2q�m4,"5l
����'��8���+���
IV. �t�/�'uh"
����� :

(A) II, III ����=��"�� IV (B) I, II ����=��"�� III
(C) IV, II ����=��"�� I (D) I, II ����=��"�� IV
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13. Assertion (A) : Culture refers to the

beliefs, values and

expressive symbols that

any group holds in

common.

Reason (R) : Culture determines the

ways by which people

organize their

experiences, and guides

social behaviour.

Code :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true, but (R) is

not correct explanation of (A)

14. Based on the modes of production of

goods for subsistence, economies in

simple societies can be grouped into four

types. Identify the correct order of

economies from the code given below :

I. Pastoral

II. Settled cultivation

III. Hunting and gathering

IV. Shifting cultivation

Code :

(A) I, II, III and IV (B) IV, II, I and III

(C) IV, I, III and II (D) III, I, IV and II

13. � ��������� ��(� ��) : �����-n12�����>���������x��
�
*
����
�q����+���0����/'������>���/�'�0
�A
 *�g������������I"��j�9	
/�'h"�>�
���DS���*A

����������� (���) : ��.r
�� ���������������"�

�����g���
�.	���2()� ����/�'";
����� �����-n12
	:�I"	�� �.;��q� �
=� j������HI"���
��.���/�'0���������/�'W����0��

����� :

(A) ���.�q���/''8���	��q��#I"������.v

(B) ���.�q��#I"��/''�;������/''8������q��#I"�����.������������/''8���
*���/�'h"

(C) ���.������.vq��#I"����/''8����

(D) ���.�q��#I"��/''�;������/''8������q����.�����������#I"����/''8���
*���/�'h"���	���

14. P���620�j�9	���

�s9	
/�'�>�q�s������ �������R
�s=����
���+������
�������	��� ���3?;���
/'��q��
%�"�����/�'�������������()
���!�7��������A

I. �.U�"��w�Gh"

II. �.N=0j��/'������+���j���"��

III. ���Qq�sR/�'�#����/�'h"

IV. �w;���������/�'��������+���j���"��

����� :

(A) I, II, III ����=��"�� IV (B) IV, II, I ����=��"�� III

(C) IV, I, III ����=��"�� II (D) III, I, IV ����=��"�� II
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15. Match an item in List I with an item in List II.

List I (Concepts) List II (Thinker)

I. Cultural lag 1. W. G. Sumner

II. Looking Glass Self 2. Sigmund Freud

III. Id, Ego and super ego 3. William Ogburn

IV. Ingroup and outgroup 4. C. H. Cooley
5. Howard Becker

Code :

I II III IV

(A) 1 2 4 5

(B) 3 4 2 1

(C) 3 4 1 5

(D) 4 3 2 1

16. Which of the following concepts gives an
appropriate understanding of a trade union ?

(A) Quasi group

(B) Reference group

(C) Interest group

(D) Voluntary group

17. Max Weber defined sociology ... as a
science concerning itself with the
interpretive understanding of social action
and thereby with causal explanation of its
course and consequences. It implies :

I. Sociology should be a science

II. Concerned with causality

III. Utilize interpretive understanding
(Verstchen)

IV. Social imagination

Code :

(A) III and  IV (B) I and IV

(C) I  and III (D) I, II and III

15. Dz�$ I ()����������
�����Dz�$� II ()�� ������r�U
����p
�:
��=�w
�"�����.

�g�� I �g�� II

I. j����-n12����*
�?��� 1. ;��?�B�+A��A��������/<'
II. 
�����><��>�Bz��F�(&"� 2. H�><������;<�����/'��;<�
III.  ;<�q�X>:q�����./<'�X>: 3. *D��"��&���s>���/<'�
IV. �������l������I"�����q 4. H�A�FI"7&�A�����(Y"

?HI"��l������I"����� 5. �I)���/<'M�J,"���/<'

������:
I II III IV

(A) 1 2 4 5

(B) 3 4 2 1

(C) 3 4 1 5

(D) 4 3 2 1

16. g������=x��������t��F.8�����>��I"�����������D��7������������m��i
(A) ��3Z���>���z.
(B) =�t/''�&�l��>���z.
(C)  �Q/''z�$��>���z.
(D) �

�QK��>���z.

17. ����+�<�l��'�?/<'�������r�U
j�������j����������7��/�'+�����*���=�7��
U
����>�q�s�7��/�'+�����>��
���/�'h�
�q�7��/�'+���
B���.���

����
�'�D��"�7��#�����>���/�'3!�7
/�'��	
���/�'��

I. ������rU
�����g����U
����
II. ��/�'h�
��������?�9��!���*
III. *���/�'h����x�����/�����P�.�,"�S���0��
IV. j�����������R">�����
����� :
(A) III ����=��"�� IV (B) I ����=��"�� IV
(C) I  ����=��"�� III (D) I, II ����=��"�� III
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18. Assertion (A) : Diffusion is the
introduction and spread
of a trait from an external

culture.

Reason (R) : Cultures are constantly

coming into contact with

one another either within

one society or between

societies.

Code :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

19. From the code given below choose the

correct sequence of the type of marriage

as explained by Westermark

I. Group marriages

II. Promiscuous relationships

III. Monogamy

IV. Polygamy

Code :

(A) II, III, I and IV

(B) II, I, IV and III

(C) IV, II, I and III

(D) IV, I, II and III

18. � ����������� (� ��) : g����?��"�%�"� �����-n12��,"�����-
j����- n12������U�"���,"�����-
�.=7����"��q��
+H.0���'�D��"�7��#��
�
+H.0�H�	
������

����������� ( ���) : �����- n1����
��L
B�.v;���� g���
������4�
�>�5q�**9	���������4�

����9	��+� ���
/'������ ���
B� �./�' ��6/�'�
��.��*�����7����������%�/'��

����� :

(A) ���.�q��#I"��/''�;������/''8���*q��#I"�����.���,"�����-���/''8���
*���/�'h"

(B) ���.�q��#I"��/''�;������/''8������q��#I"�����.���,"�����-���/''8���
*���/�'h"���	���

(C) ��.����/''8���	��q��#I"������.v

(D) ���.������.vq��#I"����/''8���	��

19. �'���$/<'����/<'-����!�!����**9	���*�
�I"��.	�������
�����g������������
�.	���2()����!�7��������A

I. j������HI"����*�
R
�

II. F�83/�'�
����?�9	

�

III. m����*�
�I"�

IV. ?�I"��*�
�I"�

����� :

(A) II, III, I ����=��"�� IV

(B) II, I, IV ����=��"�� III

(C) IV, II, I ����=��"�� III

(D) IV, I, II ����=��"�� III
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20. Match the item in List I and an item in List II

         List I       List II

   (Role related activity) (Concept)

I. Working mother 1. Role play

with a sick child

at home

II. A budding 2. Role conflict

badminton player

emulating Saina

Nehwal

III. A teacher handling 3. Counterfeit role

classes

IV. A quack passing 4. Role model

off as a trained

doctor

5. Playing at a role

Code :

I II III IV

(A) 2 4 1 3

(B) 1 2 5 3

(C) 2 5 4 3

(D) 3 5 4 2

21. Appropriate and acceptable behaviour in

specific situation is termed as :

(A) Values (B) Status

(C) Roles (D) Norms

20. Dz�$ I ()����U

�����Dz�$ II ()����������
�:��w
�"�����

         �g�� I h��
�" �i       �g�� II  h#$������i

I.  �%)B�/:>���>������'��8��� 1. ��������/�'3�I"h"

�;��M����DS����P	:+>�����0/�
�

II. F�8�
��'�R3(&"���� 2. �����������t�/�'uh"

��������=���0����

J�+;��x�Q�&��sQ>���'�0

III. ���/�'>��2�>���() 3. 	T�>���������

J)9����0�����P��9	
+��"��;���

IV. ��������;'�8����;
���$/�'�>� 4. �������/�'ho"��"��'��8���

7'�(�����h�"�����E�������� ������

�
Q���'�8	���+;��� 5. �������������������=�7��;���

����� :

I II III IV

(A) 2 4 1 3

(B) 1 2 5 3

(C) 2 5 4 3

(D) 3 5 4 2

21. ��/''8������[��/�'��,"�>��+�'��8������.���/�'0����	�����?%�"$
P�Q����i

(A) *
����
� (B) ��������0

(C) ������ (D) ��.����h�
�
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22. Assertion (A) : The main function of

education is to transmit

the dominant culture of a

society

Reason (R) : Cultural goals and

values differ from one

society to another

Choose the correct answer from the given

code :

Code :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)

23. Which is the correct sequence of

dialectical process of economic forces in

history according to Karl Marx ?

I. Thesis

II. Synthesis

III. Anti thesis

Code :

(A) I, II and III (B) III, I and II

(C) II, III and I (D) II, I and III

22. ������������ (���) : *	��+��,"�����-� ��.9	
���� ��.������"�

s9��.���+������-n12�

�T���j�S�7��;���

����������� (���) : j����-n12����
��+
�q�*
����
�

������4�
� � ���9	 ��+� � ��/ �'3/ �'�>�

P�%�/'��

��������:;<�������;�����/''8�����
%�"���������>T���������

����� :

(A) ���.����/''8���	��q��#I"������.v

(B) ���.�q��#I"��/''�;���� ��/''8������q��#I"�����.������� ��/''8���

*���/�'h"

(C) ���.������.vq��#I"����/''8���	��

(D) ���.�q��#I"��/''�;������/''8������q��#I"�����.������������/''8���

*���/�'h"���	���

23. ��/<' B� ����/<'-�l� H�	
 ������� ��.��/�'�� >��2�
=-���� s=����

�����

()���/''8������������������i

I. H�	
������

II. ���������3��"��

III. ��.2�H�	
����������

����� :

(A) I, II ����=��"���III (B) III, I ����=��"�� II

(C) II, III ����=��"�� I (D) II, I ����=��"�� III
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24. Match an item in List I with an item in List II

         List I           List II

   (Meaning of the term)       (Term)

I. Way of life of members 1. Custom
of a given society

II. Established pattern 2. Culture
of behaviour in a
society

III. Appropriate and 3. Value
acceptable
behaviour

IV. Something that is 4. Sanction
desirable

5. Norm
Code :

I II III IV
(A) 2 1 5 2
(B) 1 5 4 5
(C) 5 4 1 3
(D) 2 1 3 5

25. Collin’s conflict theory shows relatively
little Marxian influence and is more
influenced by other perspectives. Which
are they ?
(A) Phenomenology and  Ethnomethodology
(B) Ethnomethodology and Functionalism
(C) Phenomenology and Structuralism
(D) Ethnomethodology and Structuralism

26. Objectivity means
(A) Conduct of research by more than

one person
(B) Undertaking research with full

involvement
(C) Conduct of research by an academic

organization
(D) Undertaking research impassionately

24. D z�$�I ()���/��
�����Dz�$ II ()����������
�:��w
�"�����

         �g�$ I           �g�� II

(%
��&
)       (#$������)

I. g����������r�()������"�+
 1. j����.	
��"��
k�������*9	
����

II. g����������r�()����.���/�'0��� 2. �����-n12
���������


III. ��/''8���q���[��/�'��,"�>��+�'��8��� 3. *
����
��.���/�'0���

IV. �:/�'����������*�G��"�� 4. �����rp

5. ��.����h�
�
����� :

I II III IV
(A) 2 1 5 2
(B) 1 5 4 5
(C) 5 4 1 3
(D) 2 1 3 5

25. ��D�&�l� �t�/�'uh"� H�	
������()� ����/<'-�l��,"�����-� ��.������
�������-���>��P�;��q� ���/�'� H�	
������ ��.���

��L����-���>�
P�
�/'��A��*�m*�i
(A) 	��1S3�G��"���
	���q�L�:��'�����;

k
(B) �L�:��'�����;

k�����=��"�����.��/�'+�
	���
(C) 	��1S3�G��"���
	���q�����=��"����=x2��
	���
(D) L�:��'�����;

k ����=��"����=x2��
	���

26. ��G6����������.=U)9	����������>�
(A) g���=�����
��L����-���>���.=U)9	������7����"�;���
(B) �.=U)9	�����������.N=0��U�"	����:�7����"�;���
(C) �.=U)9	����������g����*	
+��������	
3/��7��/'���7��;���
(D) �.=U)9	���������:	��3>�
������@����>��7����"�;���
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27. Match the item in List I with the correct item
in List II

List I List II
I. Elite theory 1. Dahrendorf
II. Structuralism 2. Merton

III. Dialectical conflict 3. Pareto
theory

IV. Middle range 4. Levi Strauss
theory

5. Parsons

Code :

I II III IV
(A) 1 2 4 3
(B) 3 4 1 2
(C) 4 2 5 3
(D) 4 5 3 2

28. Structural-functionalism is criticized on the
following grounds.

I. It gives more emphasis on order and
stability

II. Neglects social change and social
conflict

III. Neglects the individual

IV. Over emphasizes the cultural system

Code :

(A) I and II are correct

(B) I and IV are correct

(C) I, II and III are correct

(D) II and III are correct

29. In all societies life crises are surrounded
with ‘religious rituals’. Who among the
following said this ?

(A) Durkheim (B) Levi Strauss

(C) Weber (D) Malinowski

27. D���$�I ()��H�	
���

�����D���$ II ()��H�	
���������/�'0
�:
�wD"���/''8�����:;��������>���=0�7���;��

  ����� I           ������II
I. ��G$�H�	
������ 1. ;���FI"�;
zt
II. �/�xh"�H�	
����� 2. �'��/�'$�&�
III. >��2�
=-����H�	
����� 3. �./''%)

�
	���
IV. *�;��(&"�/�'�4&"�H�	
������ 4. (,"*�~j�$z�

5. ��/�'��&�l
������ :

I II III IV

(A) 1 2 4 3

(B) 3 4 1 2
(C) 4 2 5 3

(D) 4 5 3 2

28. �/�xh"� � �.��/�'+� �
	��� *����/�'�
�� m� ���2�.����
F.8
7����"�?;
M/'��

I. ����������H��/�'���3��F.8����9	
���+���
II. j��������������/�'�6q��t�/�'uh"
������/�'B����+��7����"��Q
III. ���+���0���/�'B����+��7����"��Q
IV. j����-n12�������+���������������+��������9	
���+���� 7���"Q
����� :

(A) I ����=��"�� II ��/''8���*
(B) I ����=��"�� IV ��/''8���*
(C) I, II ����=��"�� III ��/''8���*

(D) II ����=��"�� III ��/''8���*

29.  ���� ������4�()Bq� k���� ���B�G$� ��.������"�
()� ��������./�'�'��8���
��.������"�
��%���"���L���/�'��7'���6/�'��i

(A) 	��/<'-FI"8�&�� (B) (,"*�~j�$z�

(C) �'�?/<' (D) ����D�:H�-
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30. According to Blumer, which of the
following objects can be classified ?

I. Social II. Physical

III. Abstract IV. Spiritual

Code :

(A) I and III are correct

(B) I and II are correct

(C) I, II and IV are correct

(D) I, II and III are correct

31. According to Coser what are the functions
of conflict ?

I. Allows expression of hostility

II. Enables redressal of grievance

III. Leads to elimination of specific
sources of conflict for parties

IV. Increasing tension and frustration

Code :

(A) I and II are correct

(B) I and III are correct

(C) I, II and III are correct

(D) I, II and IV are correct

32. Marx identified four stages of human
history on the basis of modes of
production. Arrange them sequentially in
the order in which they appeared in his
writing.
(A) Primitive communism, feudalism,

slavery, capitalism
(B) Feudalism, slavery, primitive

communism, capitalism
(C) Primitive communism, slavery,

feudalism, capitalism
(D) Slavery, feudalism, capitalism,

primitive communism

30. ?�B����/<'�H�	
���������.��/�'�q������0���E
����K����/�'h"�m�*9	���>�
r/�'�>����������i

I. j��Ht���� II. �|2���
III. s�����/�'0 IV. ���������./�'�>�
�����:

(A) I ����=��"�� III ��/''8���*
(B) I ����=��"�� II ��/''8���*
(C) I, II ����=��"�� IV ��/''8���*
(D) I, II ����=��"�� III ��/''8���*

31. �:r/<'��t�/�'uh"�H�	
������()����.��/�+�(Y"*�i
I. U�"���1���3����

��������+���0�./�'7��>��
>��;���
II. *�
	����.=��-/�������!�7��;���
III. **9	��� ���/� �
� ����9	��+� �T���*�
	��� �����(�
����

�/�'�xD�7��;���
IV. ��.���/�'uh"q����6n1�I"
�����F.�7��;���
����� :

(A) I ����=��"�� II ��/''8���*
(B) I ����=��"�� III ��/''8���*
(C) I, II ����=��"�� III ��/''8���*
(D) I, II ����=��"�� IV ��/''8���*

32. �����������7��=����()�����/<'-�l��

�>����	��U�"
�����>���=0�7
/�'�
�
%�"������������.	���2()�>���=0�7��������
(A) s������ j�����+�
	���q� ��"�j�3����+�q� J����� 	��U�"

F.Q�$?;��	
K�	��U�"
(B) ��"�j�3����+�, J����� 	��U�", s������ j�����+�
	���,

F.Q�$?;��	
K�	��U�"
(C) s������ j�����+�
	���, J����� 	��U�", ��"�j�3����+�,

F.Q�$?;��	
K�	��U�"
(D) J�����	��U�", ��"�j�3����+�, F.Q�$?;��	
K�	��U�", s�����

j�����+�
	���
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33. Mead identified four basic and inter related
stages in the act. Put in sequential order
in which they appeared in his theory.

(A) Impulse, perception, manipulation and
consumption

(B) Impulse, manipulation, perception and
consumption

(C) Manipulation, consumption, impulse
and perception

(D) Perception, impulse, consumption
and manipulation

34. Match an item in List I with an item in List II.

According to Dahrendorf transformation of
quasi groups into groups takes place
under proper conditions.

         List I       List II

I. Technical 1. Low social mobility
encouraging
shared identity

II. Political 2. Geographic
concentration and
in group
communication

III. Social 3. Civil and political
rights

IV. Psychological 4. Leadership and
ideology

Code :

I II III IV

(A) 4 1 2 3

(B) 4 2 1 3

(C) 1 2 3 4

(D) 4 3 2 1

33. 7��/�'+()�V�;<���

�>����������*����q������/<'����?�9	

��>��

	��U�"
�����>���=0�7
/�'�A��
%�"������������.	���2()�#./�'�"�����

(A)  ��.(&"lq��./''l�.u�&�q�������.E(Y"�G�&�q������=��"���������l�&���G�&�

(B)  ��.(&"l, ������.E(Y"�G�&�, ��./''l�.u�&� �����=��"���������l�&���G�&�

(C) ������.E(Y"�G�&�,�������l�&���G�&�,  ��.(&"l �����=��"�� ��./''l�.u�&�

(D) ��./''l�.u�&�,  ��.(&"l, ������l�&���G�&������=��"�� ������.E(Y"�G�&�

34. D z�$�I ()����U

�����Dz�$�II ()���
%�"�:��w
�"�����.

According to Dahrendorf transformation of

quasi groups into groups takes place

under proper conditions.

         �g�� I        �g��  II

I. j�����2��� 1. �������-����j����������>��2�
���
�./�'��6/�'�P�����
��w���lHI"���0��

II. /�r�o���"� 2. �|>:�����j���	�����q������/�'����
��.j�/�'�

III. j��������� 3. j��Ht����q�/�r�o���"�
�I"����-
�

IV. �������H���� 4. �
��"�������3�q�H�	
������

Code :

I II III IV

(A) 4 1 2 3

(B) 4 2 1 3

(C) 1 2 3 4

(D) 4 3 2 1
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35. The characteristics of scientific method are

I. Exactness

II. Universality

III. Imagination

IV. Observability

V. Experimentation

Which ones shown above are correct ?

(A) I, II, III and IV (B) I, II, III and V

(C) I, II, IV and V (D) II, III, IV and V

36. Match an item in List  I with an item List  II

List  I List  II

(Book) (Author)

I. Structure and 1. Radcliffe-Brown

Function in

Primitive Society

II. Class and Class 2. Karl Marx

Conflict in Industrial

Society

III. The Rules of 3. Max Weber

Sociological Method

IV. The Methodology of 4. Emile Durkheim

Social Sciences 5.  Ralf Dahrendorf

Codes :
I II III IV

(A) 1 2 4 5
(B) 1 5 4 3

(C) 4 5 3 2

(D) 4 2 5 3

35. U
Z����"���.	���2�
���h�(Y"*�i
I. C!"����'��8���
II. ��.�.�7����
+�.0�>�
III. ���
6���
IV. �.=�
���
V. ��.�,"�>���

F.8��
%�"()�m*���/''8���*�i
(A) I, II, III ����=��"���IV (B) I, II, III ����=��"�� V

(C) I, II, IV ����=��"�� V (D) II, III, IV ����=��"�� V

36. Dz�$� I ()�� �.E��0��
�����Dz�$� II ()�� H�	
������ ��/�'�
�:
�w
�"�����

�g��  I �g��  II
(�����f��
�����) (
��!��
������)

I. Structure and 1. /�;<����Bzt��J|�&�

Function in

Primitive Society

II. Class and Class 2. ��/<'B����/<'-l
Conflict in Industrial

Society

III. The Rules of 3. �����<�l��'�?/<'

Sociological Method

IV. The Methodology of 4. L*�D�	���/<'-FI"8�&��

Social Sciences 5.  /�(&"��;����I"�;
zt

����� :
I II III IV

(A) 1 2 4 5
(B) 1 5 4 3
(C) 4 5 3 2

(D) 4 2 5 3
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37. Assertion (A): Empirical research over

the decades has earned

respect for the discipline

of sociology

Reason (R) : Not all the researchers
have applied scientific
techniques correctly

Select the correct answer from below :

(A) Both (A) and (R) are individually true,
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

38. Choose the correct method of research
listed under List I with the situation listed
under List II

List  I List  II

I. Case Study 1. A leader

II. Survey 2. Marriage

III. Participant Observation 3. Census

IV. Life History 4. Children’s play

5. Orphanage

I II III IV
(A) 5 3 2 1
(B) 5 3 4 1
(C) 3 5 2 1
(D) 4 5 1 2

37. ������������ (���) : �T��� 	 ��U
J�W
�>�� r=S� ��
�������"*���� �.=U)9	���������
B� ������r
U
j�������>�/�'�����m/�'6;����

����������� (���) : 7
(����������.=U)9	������
��U
Z����"�
�.	�������D��C!\����>����%�"�7��(Y"	���

��������
%�"()���/''8�����
%�"�����!�7���������:

(A) ���.�q��#I"��/''�;��������;�����/''8������q����.�����������#I"�
��/''8����*���/�'h"

(B) ���.�q��#I"��/''�;��������;
���/''8������q����5����.���������
�#I"�����/''8����*���/�'h"���	���

(C) ���.����/''8����q��#I"������.v

(D) ���.������.vq��#I"����/''8����

38. g���Q����D���$()���.=U)9	�������.	���2���q�/''�;������D���$()��m
j�����������.=H��2q���������I"����/''8���	:��������>T���������

�����  I �����  II

I. ���z����$;o� 1. g�����
��"�����;���

II. ��/�'3 2. *�
�I"�

III. ���I"��S��.=�
��� 3. r�
���(,"���-
�
IV. k*����7��=���� 4. H.
B
�

sQ(�;��������;��;���

5. ��
�
�U�"�����
I II III IV

(A) 5 3 2 1

(B) 5 3 4 1

(C) 3 5 2 1

(D) 4 5 1 2
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39. In a social survey, data is NOT collected
from

I. All the people in a community

II. Only same people in a community

III. Only males in a general study

IV. Only females in a general study

Which one of the following is the correct
answer ?

(A) I, II  and III (B) II, III and IV

(C) I, III and IV (D) I, II and IV

40. Which is the right sequence in a research
study ?

I. Collection of primary data

II. Literature survey

III. Analysis and report writing

IV. Collection of secondary data

Choose the right sequence

(A) II, I, IV and III (B) I, III, II and IV

(C) I, II, IV and III (D) II, IV, I and III

41. Assertion (A) : A good sample helps in
making a comprehensive
study of a community

Reason (R) : A person selected for
study may be an odd
person, but represents
the universe

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

39. g����j������������/�'3()���������
%�"()�	��������!
	���
0�U

�����#����=�7�������

I. g�����������	
��"��()����	��=���.r
�
II. g�����������	
��"��()���T�	��=���.r
�
III. g���� j�9	
/�'h"��9	��+��"�����()� �.E/�'��G�
� �����;��

������������
IV. g����j�9	
/�'h"��9	��+��"�����()�Z��
������;���������������

�������m����/''8�����i
(A) I, II  ����=��"�� III (B) II, III ����=��"�� IV
(C) I, III ����=��"�� IV (D) I, II ����=��"�� IV

40. ��������
%�"�����/�'�������������()�#./�'�"�����
I. ������*�����	���
0�U

�
II. �>����

���/�'3
III. *U�"B�Gh"q�=�w/�'�$���
��"��Q
IV. >�h"�	���
0�U

�#����/�'h"

������������������
%�"()���/''8����������9	
�������������L������T���������
(A) II, I, IV ����=��"�� III (B) I, III, II ����=��"�� IV
(C) I, II, IV ����=��"�� III (D) II, IV, I ����=��"�� III

41. ������������ (���) : g���������!���.27����"������.	��W2�g���
��� ����	
�� "���� ��� �.N/ �' O
�9	��+��"��
������:;��6;���������A

����������� (���) : �9	��+��"��
�����L������:?;������g���
���+���0����������
�>���L������:	��S���
���+���0�������w/'���
����������������I"����
���2�9	��+�����HI"j�0;���

(A) ���.�q��#I"��/''�;������/''8������q����.�����������#I"�����/''8���
*���/�'h"

(B) ���.�q��#I"��/''�;��������;
���/''8������q����5����.���������
�#I"�����/''8����*���/�'h"���	���

(C) ���.����/''8����q��#I"������.v

(D) ���.������.vq��#I"����/''8����
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42. In participant observation :

I. People are conscious of sociologists

II. Researcher also gets involved
emotionally

III. Researcher may be carried away by
the passion of the group for the study

IV. Researcher may fail to note the data
as he/she is fully involved in research

Choose the correct answer from the options
given below :

(A) I, II  and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV

43. Choose the correct match for the
techniques given in List I from the items
given in List II.

List I List II

I. Observation 1. Pre-prepared list of
answers

II. Oral history 2. Researcher meets
respondents

III. Structured 3. Collecting data from
questionnaire a diary

IV. Interview 4. Matching a group of
people

5. Father teaching
black magic to his
son

Code :

I II III IV

(A) 4 5 1 2

(B) 4 1 5 2

(C) 2 1 4 5

(D) 2 1 5 4

42. ���I"��S��.=�
���()

I. ������r�U
����p����.r
��>���=0j�0/�'�

II. ��.=U)9	������;������������I"�()� �����;����
;���

III. ��������I"���,"�����-� ���:	��3>�
()� �.=U)9	������;���
��
��.�7��������%�;���

IV. ��.=U)9	�����()� �.N=0>�������'��8����	������� �.=U)9	������;���
	���
0�U�"�#����/�'h"�7����"�;���

F.8��
%�"()�m*���/''8���*

(A) I, II  ����=��"�� III (B) I, II  ����=��"�� IV

(C) I, III  ����=��"�� IV (D) II, III  ����=��"�� IV

43. D���$ I ()���.=U)9	���
��.	�������
�����D���$ II ()���
%�"�:
��=�wD"������	���/'��!"�����:;<�
()���/''8�����
%�"��>���=0�7���;��.

   ����� I       ����� II

I. �.=�
��� 1. ������	��������"�/�'��7��H����
������9	
�

�

II. �
!����7��=���� 2. �.=U)9	������;������.rD�
���
�j�0;���

III. �/�xh"���.U
����� 3. ;'�8K������;���	���
0�U

����
#����=�7��;���

IV.  �Q/�'�3�+ 4. g�����������R��
>��������7��;���

5. g���������;������������������/�'�����
�7�����?;����>���=�!
�'�D��"�7����"��Q

����� :
I II III IV

(A) 4 5 1 2

(B) 4 1 5 2

(C) 2 1 4 5

(D) 2 1 5 4
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44. What is the sequence of steps involved in
framing a hypothesis ? Select the right
answer from the codes given below :

I. Inter relating different variables

II. Studying the available literature

III. Arriving at scientific assumptions

IV. Identifying the variables for study

Code :

(A) IV, II, I and III

(B) II, IV, I and III

(C) II, IV, III and I

(D) IV, I, III and II

45. Compute the mode and median for the
following :

Size Frequency

0 – 5 20

5 – 10 24

10 – 15 32

15 – 20 28

20 – 25 20

25 – 30 16

30 – 35 34

35 – 40 10

40 – 45 08

Choose the right answer from the code
given below :

(A) Mo : 13.33 Me : 18.57

(B) Mo : 15.01 Me : 17.56

(C) Mo : 18.15 Me : 13.35

(D) Mo : 20.12 Me : 18.24

44. g���� �.=���
6�������� � �����"�/�'�� 7����"�;
����� �����	��� !"���
������9	
�

��������/�'������������()B�#./�'�"�����

I. **9	���7��/�
�����9	��+������?�9	�������m/�'6/�'�7���Q

II. 	T=��������>����

������9	��+��"������7����"��Q

III. U
Z����"��./�'�>���RD�����D6�7���Q

IV. �9	��+��"��
�����7��/�
�����>���=0�7���Q

����� :

(A) IV, II, I ����=��"�� III

(B) II, IV, I ����=��"�� III

(C) II, IV, III ����=��"�� I

(D) IV, I, III ����=��"�� II

45. ��������
%�"�����'��;<�q�V�;����"��&���������>T���������

'�(j)� � kl�*
+,-

0 – 5 20

5 – 10 24

10 – 15 32

15 – 20 28

20 – 25 20

25 – 30 16

30 – 35 34

35 – 40 10

40 – 45 08

��������
%�"()���/''8����	
����������>T���������

(A) �'��  : 13.33 V� : 18.57

(B) �'�� : 15.01 V� : 17.56

(C) �'�� : 18.15 V� : 13.35

(D) �'�� : 20.12 V� : 18.24
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46. Compute coefficient of correlation from the
following data

x : 68 54 90 64 61 51 79 51 83 48

y : 55 38 95 63 58 40 74 32 84 45

Choose the correct answer from the code
given below :

(A) P : + 0.16 (B) P : + 0.75

(C) P : + 0.96 (D) P : + 0.28

Q. No. 47-50

Read the passage below and answer the
questions that follow based on your
understanding of the passage :

Goffman’s best known statement of
dramaturgical theory presentation of self
in Every day life, was published in 1959.
To put it simply, Goffman saw much in
common between theatrical peformance
and the kinds of “acts” we all put on in our
day-to-day actions and interactions.
Interaction is seen as very fragile,
maintained by social performances. Poor
performances or disruptions are seen as
great threats to social interaction just as
they are to theatrical performances.

Goffman went quite for in his analogy
between the stage and social interaction.
In all social interations, there is a front
region, which is the parallel of the stage
front in a theatrical performance. Actors
both on the stage and in social life are
seen as being interested in appearances,
wearing castumes, and using props.
Further more, in both there is a back
region, a place to which the actor can retire
to prepare themselves for their
performance. Backstage or offstage, in
theatre  terms, the actor can shed their
roles and be themselves.

46. �����	���  !"���� 	���
0�U

����� �:��"�Zt HG��"��%&"� szt

�:�=(Y"�G�&�������������>T���������

x : 68 54 90 64 61 51 79 51 83 48

y : 55 38 95 63 58 40 74 32 84 45

����	��� !"�����:;<�()���/''8����	
���>���=0�7��������A

(A) P : + 0.16

(B) P : + 0.75

(C) P : + 0.96

(D) P : + 0.28

Q. No. 47-50

�����	��� !"���� #./�
����� 7���*����/�3���� !"���� ��.U�"�
����

������9	
����� ���3�;����

� �; ��� ���QK � �� H�	
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‘presentation of self in Every day life’,�	
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k*����()�j����������7��/�'+
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()�����;
�P�����A
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Dramaturgical analysis is clearly

consistent with its symbolic-interactionist

roots. It has a focus on actors, action, and

interaction working in the same arena as

traditional symbolic  interactionism.

Goffman found a brillant metaphor in the

theatre to shed new light on small-scale

social processes.

The front is that part of the performance

that generally functions in rather fixed and

general ways to define the situation for

those who observe the performance.

Within the front stage, Goffman further

differentiated between the setting and the

personal front. The setting refers to the

physical scene that ordinarily must be

there if the actors are to perform. Without

it, the actors usually cannot perform the

personal front consists of those items of

expressive equipment that the audience

identifies with the performers and expect

them to carry with them into the setting.

Goffman then subdivided the personal

front into appearance and manner.

Appearance includes those items that tell

us the peformer’s social status (for

instance, the surgeon’s medical gown).

Manner tells the audience with sort of role

the performer expects to play in the

situation.

/�'�>�����
�F.88�j����������k�������()��������w�G����
�� �������

/�'��.�� F.8� ��.���+���� �U�"	���� �������./�'�j�0/�'�A� 	������0
�q� ���/�'

*�G��"�()B� ����;
� �U�"	����7���H.j�0/�'�A�/''�;���%�"()� ����;
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�*���/�'h"����� >��zt�����&�� 7
(�

�'�D*�:�/�'�>�����(����L������T�
�;���A

�#.�������
��	��1HG$()���t�%&"�#�$k�V�	�������
�>�q�j�9	
/�'h"�>�

r=>���7��/�'+(Y"�����H.j�0/'��A���t�%&"�#�$�������;
�>��zt�����&�

F�%�"$�><�q� ���+���0>���������� /''�;���� /�'��
�>��*��"�j�0;���A

F�%�"$�>��������>��#�$��V�	���m/�6Q��7����"�?;�������|2����'��8���

m/�6Q�BA��*�(Y"�����;
���"����$/�'�B���.	��/�'����� ���3(Y"/�'�A����+���0>�����

� ������>�� � #.� ��� ���
����� � ���H.�7��� � �.	��/ �'�� ���q� #�$����

�����>���h"�>����E��������Q���A

>��zt�����&�����+���0>���
�������^��/�'��.�q�U'"8D>��*��"��7
/�'�A

/�'��.����.	��/�'�����
�j������������������0��P	
�I"/�'h"����q

��/�'��&���,"�����-� �'��;�����(&"�>��&���������'�D��"�7�����0��A�U'"8D

���Q�;�������������������������	��/������j�/�'�>��L(���wHGj�0;:

�'�D��"�4Y"���0��



�������

 II� 23 A-22-02

47. The analogy is in between :

(A) Stage and day-to-day life

(B) Actor and Role occupant

(C) Theatrical performance and the action

(D) Stage and social interaction

48. Appearance includes :

(A) The items from which we can easily

found the status

(B) Expressive equipments

(C) The dress of the performer

(D) The surrounding

49. The Dramaturgical approach like symbolic

interactionism focusses on

(A) Interaction

(B) Actor, Action and interaction

(C) On the basis of meaning they have

(D) Taking the role of others

50. Front stage is the part of that performance

(A) for those who observe

(B) Which is observed by the audience

(C) Where one has to be very careful

(D) Which is hidden from the audience

47. F.8�#./�()��wD�������%�"�����9	��+

(A) #�$�q�������=k*�

�����9	��+

(B) ��"����$/<'q��������w�G����
�����9	��+

(C) #�$�����Q���q�7��/�'+
�����9	��+

(D) #�$�q�j�����������./�'��6/�'�7��/�'+

48. ����H.�7���/�'��.���

(A) ��������0��������DS�7�����U

�

(B) �����+�r����j�9	���

�

(C) ������������wHG�7������+���0�	������0
�

(D) �.=��/�
�

49. �;������Q=����(&"�	��1���6�������.@�����x�����./�'��6/�'�7��/�'+(�>��	���

V�	���	��1HG$�F.;���������

(A) �./�'��6/�'�7��/�'+

(B) ��"����$/<'q�7��/�'+q��./�'��6/�'�7��/�'+

(C) �
%�"��/��
����2�.����>�

(D)  ���/�'�
�����������Z�3���=�7��;���

50. ���t�%&"�#�$k��m���������w�Gh"()���>����i

(A) L���/''8����>����������0�
�/:��
=�

(B) �#.�������
���.=�D���0�����

(C) 4��>�����0>�����E�;�����
H�����������/�'�

(D) �#.�������
������!�	
!�F.%�"$����
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